Political Ideology :

as measured by how much tviton perschool year

respondent demands of each University/ College student
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Region from A-B is
liberal because student
is getting a free
handout.
Very Liberal

Region from C-D is
conservative because
student is paying fair
free-market value -or up
to twice that, but no
more,

Region near E is very liberal because
Super Liberal government is getting a free handout -a
free ride as student is sorely over-taxed,
tuition being a form of tax as described
in article,
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(Where $1,093.85 is 100% of the free-market value of one school
year of hicher education as shown by the inflation-adfusted cost
of tuftion before government subsidies distorted the market -as
described in the related article.) FIGURE 1
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